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7]
FAH IEH = % ([)
R7.4.8 22 [BEEXE 6,000
R7.4.8 5 g |HEERPR 3,087
R7.4.10 28 |ERXH# 6,000
R7.4.12 28 |ERXH# 2,000
R7.4.17 28 [ERXHE 6,000
R7.4.25 28 [ERXHE 10,000
s 36,587
BHM7ES5A 5
Z£AH EH Ex (=)
R7.5.6 B |EEEH 10,000
R7.510 22 [BEEXE 9,500
R7.5.14 22 [BEEXE 9,000
R7.5.26 22 [BEEXE 9,000
R7.5.28 22 [BEEXE 9,900
Hi 31,000
SH7E68H
FAH IEH = % ([)
R7.6.2 5 g |HEERPR 3,064
R7.6.3 28 [BEEXE 7,000
R7.6.21 B |EEEH 9,000
R7.6.30 5 g |hEERPR 3,064
= 19,128
SH7E78H
FAH IEH = % ([)
R7.7.9 28 [BEEXE 8,000
R7.7.11 & ERXIR 890
R7.7.17 S5 E | hiEESPR 10,692
R7.7.22 S E | hiEESPR 3,564
R7.7.24 B | BEETE 18,700
R7.7.29 28 [BEEXE 2,000
R7.7.31 28 [BEEXE 4,500
R7.7.31 5 g |hEERPR 16,200
=T 67,546




